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g5z K4 out IN Jax HDCP b

1 i HE R 38 43 81 17.0 64.0

2 fiI B —15 44 43 87 20.0 67.0

3 fiI EBH FF 46 44 90 22.0 68.0

4 fi1 YER hELE 43 42 85 16.0 69.0

5 fu N EF 47 43 90 20.0 70.0

6 fiI BT &R 5t 42 48 90 20.0 70.0

1 £ #® IEnR 43 47 90 19.0 71.0

8 fiI e = 44 50 94 23.0 71.0

9 fiI fSMEIE EF 44 46 90 18.0 72.0
10 fiz RE BX 49 50 99 27.0 72.0
11 FEE &R 46 45 91 18.0 73.0
12 fu Nk 42 51 93 20.0 73.0
13 £ NE 8B 47 47 94 21.0 73.0
14 BT B 46 51 97 24.0 73.0
15 iz WA fi 44 46 90 16.0 74.0
16 iz AV EY EA 45 51 96 22.0 74.0
17 f LH 8 44 48 92 16.0 76.0
18 i A 43 50 93 17.0 76.0
19 B B 47 47 94 18.0 76.0
20 {1 iEiD {SKER 45 53 98 22.0 76.0
21 1 FEX BR 45 49 94 17.0 71.0
22 {u EE 55 51 47 98 21.0 11.0
23 g ®EH 51 49 100 23.0 11.0
24 R ZE 45 50 95 17.0 18.0
25 AR Zm1 55 50 105 21.0 18.0
26 {1 KE # 51 54 105 27.0 78.0
27 1 B AT 48 53 101 22.4 18.6
28 {1 AT = 45 53 98 19.0 79.0
29 {1 &I B2 47 48 95 15.0 80.0
30 {1 £ it 47 50 97 17.0 80.0
31 {1 Sl AE 48 52 100 20.0 80.0
32 1 Sl 48 53 101 21.0 80.0
33 {1 £+ BT 47 53 100 19.0 81.0
34 {1 AH F%E 48 53 101 18. 4 82.6
35 {1 IE H#E 51 54 105 22.0 83.0
36 {1 N {RER 54 52 106 23.0 83.0
37 1 BE #X 94 55 109 26.0 83.0
38 {1 LI 53 56 109 24.0 85.0
39 f NA A= 47 64 11 24.0 81.0
40 £ NE —= 61 56 117 30.0 81.0
4 £ i B2 60 60 120 30.0 90.0
42 f1 YER IR 52 58 110 19.0 91.0
43 1 BT &R ER 57 60 117 23.0 94.0




